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Aufgaben-Quickname: 5489

Aufgabe 1
Berechne.

a) 830,06 : 100  b) 607,05: 1000  «¢)554,88:10  d) 345,08 : 10
¢) 706,9: 1000 ) 845,25:100  g) 103,01:10 1) 939,2: 100
) 444,27 :100 ) 523,54 : 100

Aufgabe 2

Berechne.

a) 6,1437:10 1) 7.2737:10 ¢ 1,0909:100  d)2,5725: 10
¢) 6,9997 : 100 £)9,9966:10 g 3,0843:10  h) 6,8597 : 10
) 4,6855:10  j)2,2795 : 100

Aufgabe 3

Berechne.

a) 58,6:1000  b)11,4:100 ¢ 36,1:10000  d)21,3:10
) 72,2:100 £ 17,7:100 ¢ 444:10  h) 74,2 : 1000
) 54,8:10 ) 81,6 : 10000

Aufgabe 4

Berechne.

a) 381,2067: 10 b) 143,8099 : 1000 ¢ 423,0066 : 100
d) 238,4426 : 100 ) 555,5457 : 1000 f) 449,8197 : 100
¢)232,03: 1000 1) 509,381 :100 i) 496,5143 : 100

i) 793,7345 : 10

Viel Erfolg!
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